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H2Z wrnr [pprev] for pressure 190.0 hPa
B.O H : H

7.5

Py
[

+—+—8C to —80 deg
=3 —B0 to —B5 deg

)
2
o B-2F —B5 to —20 deg
m [F-£1—20 ta 20 deg
= 20 to 85 deg
= 6.0 —— 65 to 0 deg
= &0 to 90 deq
& 1

5.5 ‘;(

B0 [ oo R Mo ST

f EEEETE'EEiJ EEEEE%EF =S BEEE']HEFEE | : e Seee Ba, o

D0z 00LC0 00 00,00 D0:C000 000,00 Q000,00 Q000,00 000,00

12,710,/ 5008 o7 10 /3008 11,11 /3008 56 /11 /2008 11/12 /2008 26/ 8 F3008 10701 /2008

Timz [atart of day]




12

O3 winr [ppmy] for pressure 10.0 hPd

+—+—8C to —80 deg
=3 —B0 to —B5 deg

B
o
o —B5 ta —20 deg
. [F-E1-20 tn 20 deg
= 20 to 85 deg
z —— 65 to 0 deg
= &0 to 90 deq
a
a ; : ; : ; :

(K] AR Q000,00 D00, 0 000,00 Q000,00 Q00000 000,00

12,716,/ 5006 27 /1072008 11,/11,/2008 26 ,/11,/ 2008 11,12 /2008 268/12/3008 10,01 /2809

Timz [atart of day]




HMO3 wmr [pprry] for pressure 1000 KPa

0,008

0,005
o H—+—90 to —E0 deg
004 B0 ta —65 deg
® —B5 to —20 deg
w [F-E1-20 ta 20 deg
= 20 to 35 deq
= —— 65 to 0 deg
S 0.003 B0 to 90 deg
&

0.002

0,001 i : : : : .

O 50,00 ;00,00 L EAN UEATREN Q000,00 000,00 Qcy 00,00
12,710,/ 5008 o7 10 /3008 11,11 /3008 56 /11 /2008 11/12 /2008 26/ 8 F3008 10701 /2008

Timz [atart of day]



1.6

CH4 wnr [ppmy] for pressure 10.0 hPa

1.4

1.2

ra

=
T

Daily averaga [=as title]
o
o

=
ey

0.2

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

1.0 . - : : , :
D500 (400,410 00,00 (06,50 (00, 00 0,1 O 00,0
12716,/ 5006 7 10,2008 11/41,/9008 B6 A1 2006 11,712 F2008 26,712 £50086 10,751 /2008

Timz [atart of day]




Cally cwverage [see titla]

MNZ2 wrnr [pprev] for pressure 190.0 hPa

0.25

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

D500
12716,/ 5006

(400,410
7 10,2008

00,00
11/41,/9008

(06,50
B6 A1 2006

Timz [atart of day]

(00, 00
11,712 F2008

0,1
26,712 £50086

O 00,0
10,751 /2008




MNOZ wrr, sun eleve==0 [ppmy] far pressure 10.0 hPa

0,010

0,008
o H—+—90 to —E0 deg
008 B0 ta —65 deg
® —B5 to —20 deg
w [F-E1-20 ta 20 deg
= 20 to 35 deq
= ] —— 65 to 0 deg
S 0.004 B0 to 90 deg
&

0.002

0,000 - . . , : :

O 50,00 ;00,00 L EAN UEATREN Q000,00 000,00 Qcy 00,00
12,710,/ 5008 o7 10 /3008 11,11 /3008 56 /11 /2008 11/12 /2008 26/ 8 F3008 10701 /2008

Timz [atart of day]



Caily overage [see title]

MOZ wrr, sun elev<0 [ppmy] for pressure 10.0 hPd

0,014

o2

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

OO0 |

0.004

o002

.00 - . . , : ;
D500 (400,410 00,00 (06,50 (00, 00 0,1 O 00,0
12716,/ 5006 7 10,2008 11/41,/9008 B6 A1 2006 11,712 F2008 26,712 £50086 10,751 /2008

Timz [atart of day]



F11 winr [ppmy] far pressure 10.0 hPa
S 107 : E ]

4x1075 1

Jx1070|

[ ]
X,
—
o=
&

Caily averaga [=se titls]

151078

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

Timz [atart of day]

001,090 (400,410 00,00 (06,50 (00, 00 0,1 O 00,0
12716,/ 5006 7 10,2008 11/41,/9008 B6 A1 2006 11,712 F2008 26,712 £50086 10,751 /2008




Daily averaga [=ss title

CLMO wmr [ppmy] for pressure 10.0 hPa

00014
0.0012
0.2010 +—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
0 0008 [E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg
02006
0.0004
0,0002 : : : : :
D0z 00LC0 00 00,00 D0:C000 000,00 Q000,00 Q000,00 000,00
“IEI.-"'“I'DJ.-"ECI'DB ET,.-’“II“_“II.-"'E'DDEI 11,-"'11,.-’2!305 EEf*I“IfEEIE-B 11f12f2'DCIEI 25,-"'1.‘3_',.-’206"5 1I:IJ.-'r'D1I.-"'E{:'DH

Timz [atart of day]



MNZCE vimr [pprmy] far pressure 19.0 hPa

08030

0.0025
B 0.0020 [—+—a ta B0 deg
- - —B0 to —65 deg
o —B5 to —20 deg
= 0.0015 [F-E1—-20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= i &0 to 90 deq
& 0.0010

0.0005 f+ : :

L i 5
so00nb Fhr b 4y EERERet: Solidtite: e L A G et ek
D080, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
12,716/ 2008 o7 /10,2008 11,/11,/2008 56 /11 /2008 14,/12 /2008 26,/15,/3008 10,/51 /200

Timz [atart of day]



Caily everage [see title]

F12 vinr [ppmyv] faor pressure 10.0 hPa
LTS [ : : :

25107 -

2.0x157 H—+—00 to —E0 deg
e B0 tn —B5 deg
—G3 to —20 deg
- [F-E1—20 to 20 deg
20 to 35 deq
—ES to 30 deq
50 to 90 dag
1.0x107
E0x1o™

001,090 (400,410 00,00 (06,50 (00, 00 0,1 O 00,0
12716,/ 5006 7 10,2008 11/41,/9008 B6 A1 2006 11,712 F2008 26,712 £50086 10,751 /2008

Timz [atart of day]



Caily everage [see title]

COFZ wmr [pprav] for pressure 10.0 kPa

05107
36«10t
IOx10™H-
H—+—00 ta —E0 deg
e —B0 to —BS deg
—
2.5¥107r —B5 to —20 deg
[F-£1—20 to 20 deg
20 to 35 deq
20x107 ——65 to 80 dag
50 to 90 deg
1.5x1074
1021074
NP : : : : : '
(K] AR Q000,00 D00, 0 000,00 Q000,00 Q00000 000,00
12 /10 2006 2710/ 2008 11,411 /2008 56,11 /2008 11,712 /2008 26,12 /3008 10,701 /2008

Timz [atart of day]




Caily averaga [eea titla]

251070

CCL4 wmr [pprov] for pressure 19.0 hPa

2.0x1077

1.5x107"

+—+—8C to —80 deg
=3 —B0 to —B5 deg

1.0x107° —B5 to —20 dsg
[F-E1—20 to 20 deg
20 to 35 deq
5.0x1078 ——65 to 80 dag
50 to 90 dag
o
—5,0x1570
u
—1.0x107 . : . : , ,
D080, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
12 /10 2006 2710/ 2008 11,411 /2008 56,11 /2008 11,712 /2008 26,12 /3008 10,701 /2008

Timz [atart of day]




HCMH wrr [pprov] for pressure 100 hPa

1.0 H : H

P [+ eee e o ............................ o ............................
¥ H—+—00 to —E80 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
o [F-E1-20 to 20 deg
2 20 to 35 deq
E ................................................................................................................. R R e L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
&

. ........................................................ S ......................................................... ........................................................

iR ; : : - : .

D080, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
12,716/ 2008 o7 /10,2008 11,/11,/2008 56 /11 /2008 14,/12 /2008 26,/15,/3008 10,/51 /200

Timz [atart of day]



F14 vinr [ppmy] for pressure 10.0 hPa

1.0 H : H

P [+ eee e o ............................ o ............................
¥ H—+—00 to —E80 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
o [F-E1-20 to 20 deg
2 20 to 35 deq
E ................................................................................................................. R R e L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
&

. ........................................................ S ......................................................... ........................................................

iR ; : : - : .

D080, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
12,716/ 2008 o7 /10,2008 11,/11,/2008 56 /11 /2008 14,/12 /2008 26,/15,/3008 10,/51 /200

Timz [atart of day]



Caily averaga [eea titla]

25107

2ox1074

F22 vinr [ppmyv] faor pressure 10.0 hPa

1551074 oo H—+—00 to —E0 deg
e B0 tn —B5 deg
: —G3 to —20 deg
RO S R I S S [F-E1—20 to 20 deg
: 20 to 35 deq
—ES to 30 deq
50 to 90 dag
1L [l EEEEELSEREE
0
—5.0x1070 : : : : , ,
D10, 00 O 00,010 D000, 00 ERATRA (000, 00 000000 00 (0,00
12 /10 2006 27 /10,2008 11 /11 72004 76,11 2006 11,712 /2008 26/ 2 /3008 10,701 /2008

Timz [atart of day]




Temperdature [K] for pressure 1.0 hPa
260 : : 5 . E

280 |

w270 (90 to —50 deg
o % —B0 ta —B5 deg
o —B5 to —20 deg
T 580 [5-E1—20 to 20 deg
Fa 20 to 35 deq

I

g —ES to 30 deq
= &0 to 90 deq

& 250

240

530 - . - . - .
D500 (400,410 00,00 (06,50 (00, 00 0,1 O 00,0
12716,/ 5006 7 10,2008 11/41,/9008 B6 A1 2006 11,712 F2008 26,712 £50086 10,751 /2008

Timz [atart of day]



a2

Caily averaqa [eee title]
& o
=

£

Tangent altitude [km] for pressure 1.0 hPa

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

D500 (400,410 00,00 (06,50 (00, 00 0,1 O 00,0
12716,/ 5006 7 10,2008 11/41,/9008 B6 A1 2006 11,712 F2008 26,712 £50086 10,751 /2008

Timz [atart of day]




B.2

B.C

o
tn

o
[

Daily averaga [=as title]

B.2

5.0

HZC winr [pprmv] for pressure 1.0 hP4d

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

D500
12716,/ 5006

(400,410
7 10,2008

00,00
11/41,/9008

(06,50
B6 A1 2006

Timz [atart of day]

(00, 00
11,712 F2008

0,1
26,712 £50086

O 00,0
10,751 /2008



4.3

™
tn

™
[

Daily averaga [=as title]

2.0

Q3 wmr [ppmy] for pressure 1.0 hPd

W@@%ﬁx

MMH

Mﬂ—u—n—w—r Wm

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

D500
12716,/ 5006

(400,410
7 10,2008

00,00
11/41,/9008

(06,50
B6 A1 2006

Timz [atart of day]

(00, 00 0,1
11,712 F2008 26,712 £50086

O 00,0
10,751 /2008



HNOZ wrr [pprov] for pressure 1.0 hPa

0.0012 5

00018
= 0.0008 (90 to —50 deg
- - —B0 to —65 deg
o —B5 to —20 deg
® o ooos [F-£1—20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
& 0.0004

0.0002

0,0000 - . . : : :

D0z 00LC0 00 00,00 D0:C000 000,00 Q000,00 Q000,00 000,00
12,710,/ 5008 o7 10 /3008 11,11 /3008 56 /11 /2008 11/12 /2008 26/ 8 F3008 10701 /2008

Timz [atart of day]



Cally cwverage [see titla]

CH4 winr [ppmy] for pressure 1.0 hPd

0.45 E‘FEI
042
033
+—+—8C to —80 deg
0.30 % —B0 to —65 deg
—G3 to —20 deg
0,25 [F-E1—20 ta 20 deg
20 to 35 deq
—ES to 30 deq
0.0 &0 to 90 deg
0%
0.1
0.05 : : : - : .
D080, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
12,/10/ 5006 27 /10,2008 11,/11 72008 56,11 /2006 11,712 /2008 a6/ 2 /2008 10701 /2000

Timz [atart of day]



MNZC winr [pprmv] for pressure 1.0 hPd

0010

{008

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

E T N S, E——— ......................................................... ......................................................

'E'.C":l-q- ............................ [ R R i ............................ ;. ............................ E, ................. ; I El:l tn g.:l dEH

Caily overage [see title]

Eo i L [ ———— L ; ; ........................................................ ; .......................................

2y sum ﬁw #ﬂ&% e |

T -

SRR Yodoths sy [Tl TR R, et
D DL Qs 00,00 D0, O 000,00 QS0 00 Q0000 O 00, D

‘IEI.-"'*IJ'DJ.-"‘EDE'B 27 M0,/2008 11,11 /2008 26,11 /2008 11,12, /2008 26/ 2,/2008 10,01 /2008
Timz [atart of day]

-E".CICI-:}|




Daily averaga [=se titls]

MNOZ wrar, sun elevs==0 [ppmy] for pressure 1.0 hPa

02005 ' ; : T
00004
+—+—00 to —B0 deg
00003 4= —BC to —BS deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
(.0002 —ES to 30 deq
' B0 to 90 deg
08001
0, 2000 : H : H : :
D DL Qs 00,00 D0, O 000,00 QS0 00 Q0000 O 00, D
‘IEI.-""I'DJ.-"ECI'DB ETJ.-'"II“_“II.-"'E'DDE 11,-"'11,-’EDEI-E- EE;’ﬂf?ﬂ‘DB 11f1EfE'DCIEI EEI.-"'1EJ.-’ECIE"E 1I:IJ.-'r'D1I.-"'E'HDEI

Timz [atart of day]




Caily overage [see title]

MOZ winr, sun elev<0 [ppmy] for pressure 1.0 hPd

0,014

o2

0,010

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

0.008

oLO0E

0.004

o002

.00 - . . , : :
D500 (400,410 00,00 (06,50 (00, 00 0,1 O 00,0
12716,/ 5006 7 10,2008 11/41,/9008 B6 A1 2006 11,712 F2008 26,712 £50086 10,751 /2008

Timz [atart of day]



F11 wmr [pprmyv] for pressure 1.0 hPg

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

00300 000,00 AN (AW AR Q005,00 A0z 00 ;00,00
12,716/ 2008 o7 /10,2008 11,/11,/2008 56 /11 /2008 14,/12 /2008 26,/15,/3008 10,/51 /200

Timz [atart of day]




CLNO vmr [pprmy] for pressure 1.0 hPa

£,005 :

L i1 T N T R R R R TR .i ......................................................... .
o : . . (90 to —50 deg
B N S, S O S S .| Pex—B0 ta —BS deg
2 i : i 5 § 5 —65 ta —20 deg
w [F-E1-20 ta 20 deg
= 20 to 35 deq
N T e S - ——B5 to 80 deg
z HO02 i ;e i O 80 to 90 deg
& : 5 5 i § :

00 [ E{F' ....................................................... A— T | R W— A — =

n s i . i
O
000 : : - , .
OG0, 00 063 00,10 Q100,01 00100, 20 (500, 010 Q00,04 03 001,10
12,710,/ 5008 o7 10 /3008 11,11 /3008 56 /11 /2008 11/12 /2008 26/ 8 F3008 10701 /2008

Timz [atart of day]



NZOE vimr [pprmw] far pressure 1.0 hPa

08012

00018
= 0.0008 (90 to —50 deg
- - —B0 to —65 deg
o —B5 to —20 deg
® o ooos [F-£1—20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
& 0.0004 §---

0.0002

0,0000 - . . : : :

D0z 00LC0 00 00,00 D0:C000 000,00 Q000,00 Q000,00 000,00
12,710,/ 5008 o7 10 /3008 11,11 /3008 56 /11 /2008 11/12 /2008 26/ 8 F3008 10701 /2008

Timz [atart of day]



F12 wmr [pprmyv] for pressure 1.0 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

00300 000,00 AN (AW AR Q005,00 A0z 00 ;00,00
12,716/ 2008 o7 /10,2008 11,/11,/2008 56 /11 /2008 14,/12 /2008 26,/15,/3008 10,/51 /200

Timz [atart of day]



Caily averaga [=== title]

Q0004

02003

02002

02007

0,000

—0.0001

COFZ wrr [ppriv] for pressure 1.0 hPa

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

—0.8002 . - : : , :
D500 (400,410 00,00 (06,50 (00, 00 0,1 O 00,0
12716,/ 5006 7 10,2008 11/41,/9008 B6 A1 2006 11,712 F2008 26,712 £50086 10,751 /2008

Timz [atart of day]




CCL4 wmr [pprov] for pressure 1.0 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

00300 000,00 AN (AW AR Q005,00 A0z 00 ;00,00
12,716/ 2008 o7 /10,2008 11,/11,/2008 56 /11 /2008 14,/12 /2008 26,/15,/3008 10,/51 /200

Timz [atart of day]




HCM wrar [pprmv] for pressure 1.0 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

00300 000,00 AN (AW AR Q005,00 A0z 00 ;00,00
12,716/ 2008 o7 /10,2008 11,/11,/2008 56 /11 /2008 14,/12 /2008 26,/15,/3008 10,/51 /200

Timz [atart of day]




F14 wmr [pprmyv] for pressure 1.0 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

00300 000,00 AN (AW AR Q005,00 A0z 00 ;00,00
12,716/ 2008 o7 /10,2008 11,/11,/2008 56 /11 /2008 14,/12 /2008 26,/15,/3008 10,/51 /200

Timz [atart of day]




F22 vmr [pprmyv] for pressure 1.0 hPd

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

00300 000,00 AN (AW AR Q005,00 A0z 00 ;00,00
12,716/ 2008 o7 /10,2008 11,/11,/2008 56 /11 /2008 14,/12 /2008 26,/15,/3008 10,/51 /200

Timz [atart of day]




Temperdature [K] for pressure ©.1 hPa

270

FED
) H—+—90 to —E0 deg
= osn B0 ta —65 deg
o —B5 to —20 deg
v [F-E1-20 ta 20 deg
Fa 20 to 35 deq
z —— 65 to 0 deg
= 240 &0 to 90 deq
=

220 : . : ; : :

O 50,00 ;00,00 L EAN UEATREN Q000,00 000,00 Qcy 00,00
12,710,/ 5008 o7 10 /3008 11,11 /3008 56 /11 /2008 11/12 /2008 26/ 8 F3008 10701 /2008

Timz [atart of day]



Tangent altitude [km] for pressure 0.1 hPa

i

GA

[ k]
o

+—+—8C to —80 deg
=3 —B0 to —B5 deg

0
P
m G4 —B5 to —20 deg
m [F-£1-20C ta 20 deg
Fa 20 to 35 deq
= 62 —— 65 to 0 deg
= &0 to 90 deq
&

EID .........

ER o ............................ PPN ............................ oo b

=1 : i : : : ;

00300 000,00 AN (AW AR Q005,00 A0z 00 ;00,00
12,/ 10 /2006 27 10,2008 1111 /2008 56 /11 B006 11,/12 f2008 2674 2/ 2008 10,701 /2008

Timz [atart of day]




HZC winr [pprmv] for pressure 0.1 hP4d

2|
0 (90 to —50 deg
= 8 % —B0 to —65 deg
2 —B5 to —20 deg
. (E-E1-20 ta 20 deg
= 20 to 35 deq

z —— 65 to 0 deg
=4 &0 to 90 deq

&

1

D500 (400,410 00,00 (06,50 (00, 00 0,1 O 00,0
12716,/ 5006 7 10,2008 11/41,/9008 B6 A1 2006 11,712 F2008 26,712 £50086 10,751 /2008

Timz [atart of day]




1.8

1.6

1.4

=

Q3 wmr [ppmy] for pressure C.1 hPd

+—+—8C to —80 deg
=3 —B0 to —B5 deg

3
2
K3 —B5 to —20 deg
> g [F-E1-20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= 0.8 80 to 90 deg
&

QLB |

0.4

.2 ; : : - : .

Oz G0LCD Qi 00,00 AN Q000,50 Q400,00 Q00000 0 00,00
12,716,/ 5006 27 /1072008 11,/11,/2008 26 ,/11,/ 2008 11,12 /2008 268/12/3008 10,01 /2809

Timz [atart of day]




Cally cwverage [see titla]

CH4 winr [ppmy] for pressure ©.1 hPd

030
D.25
Q2B A H—+—00 to —E0 deg
4—B0 to —B5 deg
—G3 to —20 deg
OAE [F-£1-20 ta 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg
0G|
0.05
(N : . : ; : ;
00001060 05 001,00 Q000,00 00 00,50 (0500, 00 Q000,00 00 00,0100
12 /10 2006 27 /10,2008 11 /11 72004 76,11 2006 11,712 /2008 26/ 2 /3008 10,701 /2008

Timz [atart of day]




MNOZ wrar, sun elevs==0 [ppmy] for pressure 0.1 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

00300 000,00 AN (AW AR Q005,00 A0z 00 ;00,00
12,716/ 2008 o7 /10,2008 11,/11,/2008 56 /11 /2008 14,/12 /2008 26,/15,/3008 10,/51 /200

Timz [atart of day]



MOZ winr, sun elev<0 [ppmy] for pressure 0.1 hPd

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

00300 000,00 AN (AW AR Q005,00 A0z 00 ;00,00
12,716/ 2008 o7 /10,2008 11,/11,/2008 56 /11 /2008 14,/12 /2008 26,/15,/3008 10,/51 /200

Timz [atart of day]



F11 wmr [pprmyv] for pressure 2.1 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

00300 000,00 AN (AW AR Q005,00 A0z 00 ;00,00
12,716/ 2008 o7 /10,2008 11,/11,/2008 56 /11 /2008 14,/12 /2008 26,/15,/3008 10,/51 /200

Timz [atart of day]



CLNO vwmr [pprmy] for pressure ©.1 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

00300 000,00 AN (AW AR Q005,00 A0z 00 ;00,00
12,716/ 2008 o7 /10,2008 11,/11,/2008 56 /11 /2008 14,/12 /2008 26,/15,/3008 10,/51 /200

Timz [atart of day]



NZOE vimr [pprmw] far pressure 9.1 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

00300 000,00 AN (AW AR Q005,00 A0z 00 ;00,00
12,716/ 2008 o7 /10,2008 11,/11,/2008 56 /11 /2008 14,/12 /2008 26,/15,/3008 10,/51 /200

Timz [atart of day]



F12 wmr [pprmyv] for pressure 2.1 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

00300 000,00 AN (AW AR Q005,00 A0z 00 ;00,00
12,716/ 2008 o7 /10,2008 11,/11,/2008 56 /11 /2008 14,/12 /2008 26,/15,/3008 10,/51 /200

Timz [atart of day]



COFZ wer [ppriv] for pressure 0.1 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

00300 000,00 AN (AW AR Q005,00 A0z 00 ;00,00
12,716/ 2008 o7 /10,2008 11,/11,/2008 56 /11 /2008 14,/12 /2008 26,/15,/3008 10,/51 /200

Timz [atart of day]



CCL4 wmr [pprov] for pressure 9.1 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

00300 000,00 AN (AW AR Q005,00 A0z 00 ;00,00
12,716/ 2008 o7 /10,2008 11,/11,/2008 56 /11 /2008 14,/12 /2008 26,/15,/3008 10,/51 /200

Timz [atart of day]



HCM wrar [pprmv] for pressure 0.1 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

00300 000,00 AN (AW AR Q005,00 A0z 00 ;00,00
12,716/ 2008 o7 /10,2008 11,/11,/2008 56 /11 /2008 14,/12 /2008 26,/15,/3008 10,/51 /200

Timz [atart of day]



F14 wmr [pprmyv] for pressure 2.1 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

00300 000,00 AN (AW AR Q005,00 A0z 00 ;00,00
12,716/ 2008 o7 /10,2008 11,/11,/2008 56 /11 /2008 14,/12 /2008 26,/15,/3008 10,/51 /200

Timz [atart of day]



F22 wmr [pprmyv] for pressure 0.1 hPg

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

00300 000,00 AN (AW AR Q005,00 A0z 00 ;00,00
12,716/ 2008 o7 /10,2008 11,/11,/2008 56 /11 /2008 14,/12 /2008 26,/15,/3008 10,/51 /200

Timz [atart of day]
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